RETFAN 1R7AEN BE FEH o1

1. ROFERZMT. (SH308, A0, BE1520%, CH24y)

(1) 3x=45-2z (2) —Tx—25=45

(3) —4x—19=136— 15z (4) Tx-3=3(x+1)
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2. ROFGEAEMF. (S35, Afk14, Bk13408, C#2330% )

(1) —3r =42 — 6z (2) 8r+41=9

(3) —10z—31=23 4z (4)  7(3-x)=3(z—5)
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REFAN 1RAER BE 01 BE®H

1. ROFERZMT. (SH308, A0, BE1520%, CH24y)

Yo THEAZzMRT, L5bhics, B Te =~ &BXD L. BEEFTHEATH 2.

(1) 3z=45-—22 (2) —7x—25=45
3z +2x = 45 —7xr = 45+ 25
5z = 45 —Tr = 70
oSr 45 —7xz  _ 70
5 5 -7 -7
x = 9 T = —10
(3) —4x—19=36— 15z (4) Tx—-3=3(x+1)
—4z + 152 = 36+19 Tr—3 = 3z+3
11z = 55 v —3x = 3+3
dlx _ 5 Az = 6
11 11
4 _ 6
4 4
T = 5
3
€T = —
2
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2. ROFGEAEMF. (S35, Afk14, Bk13408, C#2330% )

(1) —3z=42—6z (2)  8x+41=9
—3r 46 = 42 8r = 9—41
3z = 42 8r = —32
3z _ 4 8z _ =32
3 3 8 8
x = 14 x = —4
(3) —10z—31=23—4z (4)  7(3—x)=3(z—5)
—10zx +4x = 23+31 20—-7x = 3z—15
—6z = 54 ~Tx—3z = —15-21
—6z _ 54 -10z = —36
—6 —6
—10z  _ —36
—10 —10
x = -9
18
x = —
5

© Bt - 2R L7012 (http : //www.enjoymath.sakura.ne.jp/index.html )



http://www.enjoymath.sakura.ne.jp/index.html

